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Corporation A is merely the stock-
holder. Corporation B’s assets may not 
be revalued. 

(2) Statutory merger. A statutory 
merger is a combination of two or more 
corporations under the corporation 
laws of the State, with one of the cor-
porations surviving. The surviving cor-
poration acquires the assets and liabil-
ities of the merged corporation(s) by 
operation of State law. The effect of a 
statutory merger upon Medicare reim-
bursement is as follows: 

(i) Statutory merger between unrelated 
parties. If the statutory merger is be-
tween two or more corporations that 
are unrelated (as specified in § 413.17), 
the assets of the merged corporation(s) 
acquired by the surviving corporation 
may be revalued in accordance with 
paragraph (g) of this section. If the 
merged corporation was a provider be-
fore the merger, then it is subject to 
the provisions of paragraphs (d)(3) and 
(f) of this section concerning recovery 
of accelerated depreciation and the re-
alization of gains and losses. The basis 
of the assets owned by the surviving 
corporation are unaffected by the 
transaction. An example of this type of 
transaction is one in which Corpora-
tion A, a nonprovider, and Corporation 
B, the provider, are combined by a 
statutory merger, with Corporation A 
being the surviving corporation. In 
such a case the assets of Corporation B 
acquired by Corporation A may be re-
valued in accordance with paragraph 
(g) of this section. 

(ii) Statutory merger between related 
parties. If the statutory merger is be-
tween two or more related corporations 
(as specified in § 413.17), no revaluation 
of assets is permitted for those assets 
acquired by the surviving corporation. 
An example of this type of transaction 
is one in which Corporation A purchase 
the capital stock of Corporation B, the 
provider. Immediately after the acqui-
sition of the capital stock of Corpora-
tion B, there is a statutory merger of 
Corporation B and Corporation A, with 
Corporation A being the surviving cor-
poration. Under these circumstances, 
at the time of the merger the trans-
action is one between related parties 
and is not a basis for revaluation of the 
provider’s assets. 

(3) Consolidation. A consolidation is 
the combination of two or more cor-
porations resulting in the creation of a 
new corporate entity. If at least one of 
the original corporations is a provider, 
the effect of a consolidation upon 
Medicare reimbursement for the pro-
vider is as follows: 

(i) Consolidation between unrelated 
parties. If the consolidation is between 
two or more corporations that are un-
related (as specified in § 413.17), the as-
sets of the provider corporation(s) may 
be revalued in accordance with para-
graph (g) of this section. 

(ii) Consolidation between related par-
ties. If the consolidation is between two 
or more related corporations (as speci-
fied in § 413.17), no revaluation of pro-
vider assets is permitted. 

[51 FR 34793, Sept. 30, 1986, as amended at 56 
FR 43456, Aug. 30, 1991; 57 FR 3017, Jan. 27, 
1992; 57 FR 39830, Sept. 1, 1992; 57 FR 43919, 
Sept. 23, 1992; 58 FR 17528, Apr. 5, 1993; 59 FR 
45401, Sept. 1, 1994; 63 FR 1382, Jan. 9, 1998; 65 
FR 8662, Feb. 22, 2000] 

§ 413.139 Depreciation: Optional allow-
ance for depreciation based on a 
percentage of operating costs. 

(a) Principle. With respect to all as-
sets acquired before 1966, the provider, 
at its option, may choose an allowance 
for depreciation based on a percentage 
of operating costs. The operating costs 
to be used are the provider’s 1965 oper-
ating costs or the provider’s current 
year’s allowable costs, whichever are 
the lower. The percentage to be applied 
is 5 percent starting with the year 1966– 
67, with such percentage being uni-
formly reduced by one-half percent 
each succeeding year. The allowance 
based on operating costs is in addition 
to regular depreciation on assets ac-
quired after 1965; however, if the op-
tional allowance is selected, the com-
bined amount of such allowance on pre- 
1966 assets and the straight-line depre-
ciation on assets acquired after 1965 
(including the estimated depreciation 
on assets held on a rental basis during 
the current year) may not exceed 6 per-
cent of the provider’s allowable cost for 
the current year. 

(b) Definitions—(1) Operating costs. Op-
erating costs are the total costs in-
curred by the provider in operating the 
institution or facility. 
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(2) Allowable costs. Allowable costs 
are the costs of a provider that are in-
cludable under the principles for cost 
reimbursement. Through application of 
apportionment methods to the total 
amount of such allowable costs, the 
share of a provider’s total cost that is 
attributable to covered services for 
beneficiaries is determined. 

(c) Application. If a provider has inad-
equate historical cost records for pre- 
1966 depreciable assets, the provider 
may elect to receive an allowance for 
depreciation on such assets based on a 
percentage of operating costs. The op-
tional allowance for depreciation for 
such assets may be used, however, 
whether or not a provider has records 
of the cost of pre-1966 depreciable as-
sets currently in use. 

(d) Allowance based on a percentage of 
operating costs. (1) The allowance for 
depreciation based on a percentage of 
operating costs is to be computed by 
applying a specified percentage to a 
base amount equal to the provider’s 
1965 total operating costs, without ad-
justments to these principles or the 
current year’s allowable operating 
costs, whichever is lower. The percent-
age to be applied is five for the report-
ing period that starts before or during 
1966–67, four and one-half for the re-
porting period that begins during 1967– 
68, and continues to decline annually 
by equal amounts to become zero in 
1976–77. 

(2) If used as a base for determining 
the optional allowance for deprecia-
tion, neither the 1965 operating costs 
nor the current year’s allowable costs 
are to include any actual depreciation, 
estimated depreciation on rented de-
preciable-type assets, allowance in lieu 
of specific recognition of other costs, 
or return on equity capital. Such ex-
clusions are to be made only for the 
purpose of computing the allowance for 
depreciation based on operating costs. 
For other purposes, the excluded 
amounts are recognized in determining 
allowable costs and for computing the 
costs of services furnished to Medicare 
beneficiaries during the reporting pe-
riod. 

(e) Change to actual depreciation. (1) A 
provider that elects this allowance 
may at any time before 1976 change to 
actual depreciation on all pre-1966 de-

preciable assets. In such case, this op-
tion is eliminated and the provider can 
no longer elect to receive an allowance 
for depreciation based on a percentage 
of operating costs. 

(2) If the provider desires to change 
to actual depreciation but either has 
no historical cost records or has incom-
plete records, the determination of his-
torical cost may be made through ap-
propriate means involving expert con-
sultation with the determination being 
subject to review and approval by the 
intermediary. 

(f) Determination of optional allowance 
based on percentage of operating costs il-
lustrated. The following illustrates how 
the provider would determine the op-
tional allowance for depreciation based 
on operating costs. 

Example No. 1. The provider keeps its 
records on a calendar year basis. The current 
year’s actual allowable cost and the actual 
operating cost for 1965 do not include any ac-
tual depreciation or rentals on depreciable- 
type assets. The current year’s allowable 
cost also does not include any allowance in 
lieu of specific recognition of other costs or 
return on equity capital. 

YEAR 1966 
Current year’s allowable cost .......................... $1,100,000 

Operating cost for 19651 ................................. $1,000,000 
Percent for determining the allowance ............ 5 

Allowance ................................... $50,000 
1 1965 Operating cost was used in computing the allowance 

for depreciation based on a percentage of operating costs be-
cause it was lower than 1966 allowable cost. 

YEAR 1967 
Current year’s allowable cost .......................... $1,200,000 

Operating cost for 19651 ................................. $1,000,000 
Percent for determining the allowance2 .......... 5 

Allowance ................................... $50,000 
1 1965 Operating cost was used in computing the allowance 

for depreciation based on a percentage of operating costs be-
cause it was lower than 1967 allowable cost. 

2 Since the reporting period began during the year 1966– 
1967 (July 1, 1966–June 30, 1967) 5 percent is the percent-
age to be used. 

YEAR 1968 
Operating cost for 1965 ................................... $1,000,000 

Current year’s allowable cost 1 ........................ $900,000 
Percent for determining the allowance2 .......... 41⁄2 

Allowance ................................... $40,500 
1 The current year’s allowable cost was used in computing 

the allowance for depreciation based on percentage of oper-
ating costs because it was lower than 1965 operating cost. 

2 Since the reporting period began during the year 1967– 
1968 (July 1, 1967–June 30, 1968) 41⁄2 percent is the per-
centage to be used. 
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Example No. 2. When the provider pays rent 
for depreciable-type assets rented prior to 
1966, the estimated depreciation on such as-
sets must be deducted from the allowance. 
The following illustration demonstrates how 
the allowance is determined. 

The provider keeps its records on a cal-
endar year basis. The current year’s actual 
allowable cost and the actual operating cost 
for 1965 did not include any actual deprecia-
tion, allowance in lieu of specific recognition 
of other costs, or return on equity capital. 
However, such costs have been adjusted to 
exclude estimated depreciation on rented de-
preciable-type assets. 

YEAR 1966 
Adjusted current year’s allowable cost ............ $1,100,000 

Adjusted operating cost for 19651 ................... $1,000,000 
Percent for determining the allowance ............ 5 

Allowance ................................... $50,000 
Less estimated depreciation for depreciable- 

type assets rented prior to 1966 on which 
rental is paid in 1966 ................................... $3,000 

Adjusted allowance .................... $47,000 
1 1965 operating cost was used in computing the allowance 

for depreciation based on a percentage of operating costs be-
cause it was lower than 1966 allowable cost. 

(g) Limitation on depreciation if op-
tional allowance is used. This optional 
allowance only is subject to a limita-
tion based on the provider’s total al-
lowable operating cost for the current 
year. To determine this limitation, 
compute the sum of the actual depre-
ciation claimed, the allowance based 
on a percentage of operating costs, and 
the estimated straight-line deprecia-
tion on depreciable-type assets rented 
after 1965. If this sum exceeds six per-
cent of the provider’s current year’s al-
lowable cost (exclusive of any actual 
depreciation claimed, estimated depre-
ciation on rented depreciable-type as-
sets, allowance in lieu of specific rec-
ognition of other costs, and return on 
equity capital), the allowance for de-
preciation based on a percentage of op-
erating costs is reduced by the amount 
of excess. In applying this limitation, if 
the actual depreciation claimed is on 
an accelerated basis, it must be con-
verted to a straight-line basis only for 
use in calculating this limitation. It is 
presumed that pre-1966 assets will not 
be retired at a greater than normal 
rate, and the limitation of six percent, 
as it affects the availability of the al-
lowance, is designed as a safeguard if 
the presumption is not borne out. If 

the provider does not elect to use the 
optional allowance, the combined al-
lowance for depreciation based on costs 
of pre-1966 assets and those subse-
quently acquired is not subject to the 
six percent limitation. 

Example No. 1. The following illustration 
demonstrates how this limitation would be 
determined. 

YEAR 1966 
[The provider keeps its records on a calendar year basis. The 

current year’s actual allowable cost and the actual operating 
cost for 1965 have been adjusted to exclude actual depre-
ciation, the estimated depreciation on rented depreciable- 
type assets, allowance in lieu of specific recognition of other 
costs, and return on equity capital.] 

Adjusted operating cost for 1965 .................... $1,000,000 
Percent for determining the allowance ............ 5 
In 1966 assets were acquired which produce 

a straight-line depreciation of ....................... $18,000 
Estimated depreciation on assets rented in 

1966 ............................................................. $2,000 
Adjusted allowable operating cost for 1966 .... $1,100,000 

CALCULATION OF ALLOWANCE FOR DEPRECIATION BASED ON A 
PERCENTAGE OF OPERATING COSTS 

Gross allowance 

5 percent times adjusted 1965 operating 
costs ($1,000,000) ....................................... $50,000 

Estimated depreciation on assets rented in 
1966 ............................................................. 2,000 

Straight-line depreciation on post-1965 assets 18,000 

Total ........................................... 70,000 
6 percent of adjusted 1966 allowable oper-

ating cost ...................................................... 66,000 

Reduction in allowance .............. 4,000 

Allowance ......................................................... 50,000 
Reduction ......................................................... 4,000 

Adjusted allowance .................... 46,000 

Total depreciation allowance for 
1966 ($18,000 actual depre-
ciation plus $46,000 allow-
ance based on operating cost) 64,000 

Assume in this illustration that the pro-
vider had elected to use the declining bal-
ance method in computing its allowable de-
preciation and the rental expense for depre-
ciable-type assets was $3,500. In that case, it 
would include in its 1966 allowable cost not 
only the $46,000 allowance based on operating 
costs but also $36,000 (in this instance 
2×straight-line rate is used) in actual depre-
ciation and the rental expense of $3,500—or a 
total of $85,500 covering all its depreciable 
assets. 

§ 413.144 Depreciation: Allowance for 
depreciation on fully depreciated or 
partially depreciated assets. 

(a) Principle. Depreciation on assets 
being used by a provider at the time it 
enters into the Medicare program is al-
lowed. This principle applies even 
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